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الخواص الجبرية:تذكير 

 *xyn

 enx = (ex)
n
      ,      ex-y = ex

ey      ,       e-x = 1
ex       ,       ex+y = ex   ey         ,         e0 = 1

 *ab

ea = eba = b،ea < eb a < b

R

1 .ex-2 = 1   ،e3x+1 = e-x+3 ،ex

2.

3  .X2 + 3X – 4 = 0 ،e2x + 3ex – 4 = 0.
4. 2X2 – 5X + 2 = 0 ،2ex – 5 + 2e-x = 0.
5. ex(2ex – 1) = 3 ،8e4x – 6e2x + 1 = 0 ،4e3x – 5 + e-3x = 0.

R 
1ex < 2e-x

> 1 ،e-2x
< ex.

2    .(ex – 1)(e-x – 4) < 0   ،2ex + 1) > 0(e2x - 1)(.
3    .X² + 2X – 3 < 0     ،e2x + 2ex – 3 < 0
4    .e2x – 3ex + 3 < 0    ،e2x – 4ex – 5 > 0     ،e3x – e2x + 3ex > 0

 
fRf(X) = X3 – 4X² - 29 X – 24 

1f(-1)f(-3)f(X) 
2Rf(X) = 0e2x – 4ex – 29 – 24e-x = 0

 


fRf(X) = 2X3 –X² - 13 X – 6 
1abcf(X) = ( X + 2)(aX² + bX + c) 
2Rf(X) > 02e3x – e2x – 13ex – 6 > 0

e2x

ex + 1
 = 1

e-x     ,
ex – e-x 1
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2   . 3ex = 5 ex+1 + 2 و   + 1 = e2x

ex + e-x = 1     , =
1
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النهايات :تذكير:
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f
 

1f(x) = x – ex2f(x) = x + e-x3f(x) = xex4f(x) = xe-x 
5f(x) = (x – 1)²ex6f(x) = (x² - 2x)e-x7f(x) = (x² + 1)e-2x 

8f(x) = ex

x + 1
9f(x) = ex

(x – 1)²
10f(x) = ex

1 + ex 

11f(x) = ex

1- ex12f(x) = ex – 1
e2x – 1

13- 1)
1
xef(x) = x(

المشتقات: تذكير: 

(ex)'= ex        و(eu(x))' = u'(x) eu(x)

 
ff

1f(x) = e2x+1      ،2f(x) = e2-3x     ،3f(x) = e-x2

4xe=f(x)      ،5
1
xef(x) =     ،6f(x) = esinx

7f(x) = (2x – 1)ex،8f(x) = (x – 1)²ex    ،9f(x) = (x² - 2x)e-x

10f(x) = (x² +1)e-2x    ،11f(x) = ex(e2x – 1)  ،12
1
xe    f(x) =  x

13f(x) = ex

ex + 1



